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 Chapter Test 9

Name
Choose the best answer.
1. Choose the value of n. 6. Choose the value of n.
nXx 7.6 =760 1000 X n= 3870
a. 10 b. 1000 a. 3.87 b. 387
c. 1.0 d. 100 c. 38.7 d. not given
2. Choose the value of n. 7. Choose the value of n.
15.9 + n=0.159 n+10= 3.2
a. 1000 b. 100 a. 0.032 b. 0.32
c. 10 d. 1.00 c. 3.2 d. not given
3. Estimate the product. Is the actual 8. Estimate the sum. Use clustering.
prqduct greater than or less than the 0.98+1.1+1.03+09
estimated product?
6.49
X 4.3
a. about 24; actual product is greater a. about 4
b. about 35; actual product is less b. about 4.1
c. about 26; actual product is greater c. about 3.9
d. about 28; actual product is less d. not given
4. Divide. 9. Multiply.
1.7 - 2 0.9 X 8.65
a. 34 b. 0.8 a. 7.785 b. 7.875
c. 8 d. 0.85 €. 7078 d. 77.85
5. Estimate the quotient. 10. Estimate the quotient. Use compatible

6)2.472

a. about 0.400
c. about 0.500

b. about 0.600
d. not given

numbers.

88)265.76

a. about 30
c. about 40

b. about 3
d. about 4
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Choose the best answer.

11. Estimate the quotient. Use 16. Divide. Round the quotient to the
compatible numbers. nearest cent.
9)$4.41 5)$4.68
a. about $.40 a. $.92
b. about $.60 b. $9.26
c. about $.50 c. $9.36
d. not given d. $.94
12. Choose the quotient. 17. Choose the product.
2)0.548 7.6 X 0.84
a. 0.290 a. 6.384
b. 0.024 b. 1.092
c. 0.274 c. 63.84
d. 2.74 d. 10.92
13. Multiply. 18. Multiply.
5 X 0.85 0.08 X 0.4
a. 0.415 b. 0.425 a. 0.032 b. 0.32
c. 415 d. 4.25 c. 3.2 d. not give
14. If four pounds of pears cost $4.92, how 19. A plant grows 0.857 ft in one day. At the
much does one pound of pears cost? rate, how many feet can it grow in 5 day
a. $19.68 b. $4.92 a. 4.285 ft b. 42351
c. $1.23 d. $2.86 c. 0.171 ft d. 1.7141
15. Jennifer bought 8 identical 20.
souvenirs. She paid a total of Solve. Explain how you solved the
$24.56. How much did each problem.
souvenir cost? Ms. Reno bought 2.8 pounds
of turkey. She used 0.75 of it to
a. $3.60 b. $3.70 make sandwiches. How many
c. $3.07 d. $3.06 pounds of turkey did she use?
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